Math 421 - Quiz 1 Name: Solutiovs

September 1, 2022

1. [2 points] Complete the following definition:

A group is a set G along with a binary operation * on G which satisfies the following axioms:

® Associahvity: V a,b,cehy, (axb)xc=ax (b*c)

) 3 eel such Hat exg=9*e 366.

2. [2 points] Let G be the set of all functions from R to R. Either show that G, along with the
binary operation of composition (denoted o), is a group or give a counterexample to show
that it is not a group.
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3. [1 point] Define * by a x b= +v/a+b. Is * a binary operation on Z? Why or why not?
No+  Ixl=\ier = V2, which 'S Vet om,
imHjev.



